; Equivalent Fractions
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Two fractions might look different because they have different

numerators and different denominators but they might still represent
the same number.
Look at these diagrams representing fractions :-
fig. 1 fig. 2 fig. 3

3
2 colbured 4 coloured 8 coloured
4 8

16
: 12t A 58
In each shape L has been coloured. | Thismeans 3 = 7 = g = 1¢-
pe 2 ! 16

These are called equivalent fractions. (Equivalent means the same as).

rRecognise and be
able to find
equivalent fractions

\.

Exercise 3

1. Copy the following and write down underneath each figure what fraction is shaded.

? ? ?

1 S ? 2 L
F3 §3 15 6 ? 9
i 140 L. (L= 23
a  From the pictures you can see another fraction equaito == { == =)

1. 2
b  The second and last diagrams show that 3 s the same as el

? . ?
¢ The third and the fifth diagram show that /= Is the same os -

p
Tt is possible to find a fraction equivalent

the denominator by the same number” :-

1 x5 _ 5 numerafor x5 ]

1 A 4
AT becomes 4 x5 20 denominator x 5

o -i— by simply “multiplying the numerator and

1 ; PN

2. a Multiply the top and the bottom of 0 by 2 to create a new fraction. What is it -
1 . P

b Multiply the top and the bottom of 5 by 3 to create a new fraction. What is it

1 . . .
¢ Multiply the top and the bottom of 5~ by 10 to create a new fraction. What is it ?

thie i< naae 100
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3. a Multiply the top and the bottom of .;.., by 2 to create a new fraction. What is it ?
b Multiply the top and the bottom of % by 3 to form a new fraction. What is it ?
¢ Find four more fractions equivalent to %
4.  Multiply the top and bottom of each fraction by 2 to
create a new fraction equivalent to the one given :-
L 2 3 2 2 1
a 3 A B ¢ 3 ® i f 15
5.  Repeat question 4, but multiply the top and bottom of each fraction by 3.
b 6. Multiply the top and bottom of each fraction by a number of your own choice to create a new
fraction equivalent to the one given :-
2 2 £ 3 & 4]
a 3 B 7 € 3 d 3 e 10 f
'S n
We can SIMPLIFY fractions ( like i_g) by “dividing" top and bottom by a number.
15 15 +3 & . o e
=> T becomes R (This cannot be simplified any further).
8 +3 6
\ J
7. Divide the top line and bottom line of each fraction by 2, to simplify each one :-
6 Z 10 5 18 - 86
a 3 b 1 ¢ 1z d 1 e 20 f 100
8. Divide the top line and bottom line of each fraction by 3, to simplify each one :-
3 o} 2 2 18 15
€ 3 ¥ 3 € 1 d 5 e 7 f 27
9. For each of the following fractions, divide the numerator and the denominator by a number
to simplify the fraction :- (Check that your answer can't be simplified further).
15 -3 A 5 i 10 20
a F.;s b 15 ¢ 18 d 13 ¢ 5 f 30
12 10 9 20 12 18
9 1 B ) b iz k 1 ' %0
30 10 40 25 6 5
m 20 " 100 ° %0 P 100 9 %0 " 100
0. Simplify as far as possible :-
22 26 30 360 63 34
a 13 b 39 c 75 d 380 e 99 f
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